DP LQ

R
WRUD GH (GXFDFLRQ 5HOLJLRVD
+60*

HU
HF
FKH]

P HQ (VSDXRO

F
U
Q

D P 5RVDU\
p
p
p
S

«

«
LKL

K KL K

LQ (QJOLVK
6U

(QJOLVK
S P HQ (VSDxRO

D\ @DUWHVS P
GRUDWLRQ %HQHGLFWLRQ $GRUDFLYQ \ %HQGLFLYQ

3$5,6+ 679%))

0$66 6&+('8/(
3DV WR Lk « « €« €« € «««««K

QGD\ 'RPLQDRP
S P ODVV OLVD
HV GD\ OdepddFeR @ K ¥« « « « « «
V G D W «X K & ddke « « « « «
D\ 9d k@ &« « « « ««
WXUGDX®IiEDGRP

LVK
G
$

JO
HV

GQ
XU
LG
'LUHFWRU RI 5HOLJLRXV (

H
7K
)uU
6D

.DU

U /LI K«&R&U G LIQANV RADX

UHWDU\ 6HFWHUWDURP :
W« & RV D&GRd« « )DWLPD

WRW«zZld & B QLAY D

Q@ Wedk@ B Qud=d « « «

E
H
E

L«

R

TOIAn—

S P

D B

&+85&+ 2)),&( +2856 +25%$6 '( 2),&,1$

7TXHVGRBRXUVGD\ ODUWHY D BXRYHS P

JULGD\ 9k dHdk@ K ¥« ««



